EARAROBEEIERT — 2 N— IBISH —F

2014598148 (B) 6EIKR5H

m%%%" #+5%—MHOP (xwlw | lmEmml - |5 ) eom 8
[A&4] 1 7 :3,000,000 23 :690,000 33 :390,000 ~ 4 3#&:270,000 @ 5 7 :150,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
[ AR 143. -1-1- . — HEE= (BE
g7 332=51 B4 u 1(4_3)0 1-1-1-1 | 38.1 1 :1+838) e
L:TSATLXE14 L B:3F /7Ly b [aa=y e ]
© — BE 3T 143, —8-5- X - FEAS= (BE
2 3| KU=LT75T b H 8 P 1(433)5 7-8-5-3 | 38.0 4 (4_555) *’A/EEZ’;—
R:TITRAFIEI B:RAZATL 44— EvJiLy RT77—L4L
— e S #HER 143. —-0-2- . — FEZE (KR)
3lglo|T¥REIY o8| B }ﬁe’tf S ° ;‘f; SlE
Qid—WRT7U2—Ib 8% 294K BEEHS
s N N EATE 143, —4-3- . - HRIEZEI (AKR)
o|8]1o| 71 xMINES Sk R N
R:TITRATIAI B:vAxF)—X EvilLy RIT7—L
. N TR Il — . 34— _ 1
1 > IRV #7 | ERE 1.(4;1).3 4-3-4-5 | 39.0 9 | 517 ;L\%i(g)(@m
RiGSRTL A~ Bih—25 A FNT— )| 5 s
A 7 | KiFiE 1:44.5 6-5-6-6 |39.0| — 7 472 | EEE= (ERR)
6 4| h=FKTx2T " 57.0 () 3 | B THL T
x> JUTr— B:RKU—LPaH— LEleie)
A N [ 144, —7-8- . — HRIEZRI (KR
ARIRE AR Y2 BTES &) A R ’ (f?g) Lt
R:xA1=ZTr7—2 B:YIWN=-T7h RO%%
S . o P LI AER & : 67~ - HRIEZEI (AOR)
8 6| PFRTHFI-ILEK e 57.0 (12'415/'22) 5678 | %95 ° <5+160) /J\;Ea,gﬁ !
R:d—IRkAaqO— B:7T)>eRU-—N hif fk
< - =Xy — -9 — — FEEE (KR
*|5| 5| SATIERT 1 — HES (1) v “ o |
R:xA1=ZG7—2 B:A—E—Fvvy b J—HrTy—LA
S N BREE = = = = = = HRIEZHAI (KR)
w7l | T RINT 7L 6 B . O, |emne
RO—VXA A B A1 FHHF AXET2—T7—L
® 1—F—@EBIERL
13=2F= 7,9,10,2,6,4,3,1,5
2a=5F= 7,9,2,10,4,6,1,3,5
== 7,9,10,2,3,4,6, (1,5)
40 —F— 7,9,3,10,2,4,1,6
[ N5
B 7 180M 714K 3-7 240/ e E 3-7 5004 JEE 3-7-9 660
B B 7 100M 7-9 230M B = 3-7 570M EE 7-3-9 2,030
3 170M 3-9 390 B H 7-3 930/
9 180

ABICOVWTRDTEEERROODE. TR LIV,




